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X4852
0 x 4852 = 0

1 x 4852 = 4852

2 x 4852 = 9704

3 x 4852 = 14556

4 x 4852 = 19408

5 x 4852 = 24260

6 x 4852 = 29112

7 x 4852 = 33964

8 x 4852 = 38816

9 x 4852 = 43668

10 x 4852 = 48520

11 x 4852 = 53372

12 x 4852 = 58224

13 x 4852 = 63076

14 x 4852 = 67928

15 x 4852 = 72780

16 x 4852 = 77632

17 x 4852 = 82484

18 x 4852 = 87336

19 x 4852 = 92188

20 x 4852 = 97040

21 x 4852 = 101892

22 x 4852 = 106744

23 x 4852 = 111596

24 x 4852 = 116448

25 x 4852 = 121300

26 x 4852 = 126152

27 x 4852 = 131004

28 x 4852 = 135856

29 x 4852 = 140708

30 x 4852 = 145560

31 x 4852 = 150412

32 x 4852 = 155264

33 x 4852 = 160116

34 x 4852 = 164968

35 x 4852 = 169820

36 x 4852 = 174672

37 x 4852 = 179524

38 x 4852 = 184376

39 x 4852 = 189228

40 x 4852 = 194080

41 x 4852 = 198932

42 x 4852 = 203784

43 x 4852 = 208636

44 x 4852 = 213488

45 x 4852 = 218340

46 x 4852 = 223192

47 x 4852 = 228044

48 x 4852 = 232896

49 x 4852 = 237748

50 x 4852 = 242600
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